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Practice Derivative Problems Solutions

+2e+1) <%) (2 + 1)} (22)

5a* 5
2. fi(z) = ( - ) e (76 = 5g4

=

L f'(x) =2(z* +1)

5. f’(@:%(sﬁ—n—i(m )@ +2)% + S(x3+2)—%(3x2)(3x5—1)%

. fl(z)=3" +5x+1(2$+5)(1n3)
7. f'(z) =5[(a" — 72*)° + 42°)*[6(2" — T2*)®(42® — 142) + 1227
9. f'(z) = 2(333 + 52 +9)% (322 + 5)

10. f'(z) = ol (1€ ) < %elnx ) )
14 elnz

11. f'(z) = %(ﬁ +273) 5322 — 327%)
1 1 1
In(ln(z+2))In(x+2) (x+2)

12. f(z) =

1
13. f'(x) = 3(Inx + ze® +1)? (— +e” + xe’”)
T

1 W pov AR, 2 2
14. f'(z) = =(z* + 3z)~ 3 (4P + 3)eV" T I (22 + 2r) + e ’”4+3’”(2$7+)

2 % + 22
15. f'(z) = (42® + 6z)e™ T3 (423 + 62)2 + 2(42® + 63) (1222 + 6)e® T32+1

1 11
(In (In (z))) In (z) =

17. f’(:c):4[1 ol )+4] e (‘>_(eg§( R
18. f'(z) = 4(2® + 62 + 1)*(2z + 6)

19. f(2) = 2[in (2 +1)]%<2_x>

2+ 1

16. f'(x) = e +

e:C

w

1
20. f'(z) =e€" + -

—24

21. f'(z) = (—x% — ;x*% + x%> e+ (x% — 327 4 6$7%)(2{E6I2+1)

22. f'(z) = [(42® + 22)e” 7 4 (42®)e® + (22)e” (2t + 2?) + (7 4 e + ) (4a® + 20)
2. f'(x) =3 ( In (x) ) {(m + 1)(; — (1n2(x))(2$)

5
8

26

4 2\ P
24, f'(z) == KL i~ > +(2? = 1)3(2a +2%)°

3(z% — 1)%(22)(2z + %) + (2% — 1)3(5) (2 + 2*)*(2 + 327)]

o+ () () e

)2

25. f'(x) = = (e“ﬂ (@ (@t 4 1) + 3)2>

1 $3
@ @0+ )+ (5]

- <7x4 — 22 > : (x6(28x3 - 2:5)(;6(7334 — 22)(625)

} + 322" (32% + 20 + 1)2 + € (2)(32* + 22 + 1)(122° + 2)

)+



